1 2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A ~
ITEM PART NAME Q'ty NOTES B ~
540 1 PLASTIC HCOD 2 ABS C ~
2.1| LONG BOLT 2 #4-40
47.04 , 2 D -
] 2.2| SHORT BOLT 2 #4—-40
‘ 0.0 ‘ 3 NUT 2 M3
i | ! 4 LONG SCREW 2 M3 NOTES:
-‘EI'IZ | :I'lﬂ 5 SMALL WASHER 2 Material of g N el
- ; ; 6 SHORT SCREW 2 e, aterial of screws and washers: stee
| 7.1| METAL WASHER 2 M3 2 DP-25C
7 |7.2| PLASTIC—1 WASHER 2 ABS _\ 13.7 DPT-25C
o 1.0 DN-25C
7.3| PLASTIC—2 WASHER 2 ABS e’ UNC#4—40
> i DNT-25C
8.0
_E_\‘" — P = plastic hood, short bolt
] PT = plastic hood, long bolt
N = metalized plastic chromium
Short BOLT plated hood, short bolt
NT = metalized plastic chromium
plated hood, long bolt
] 3
<
g < M3 Gray color hood (by default)
o
NUT t=2.3mm

40.8

140

SR

LONG SCREW

23,2 | o
= - o

7 3 :3§ 24,
! = !%r( A0 &$‘_ \
' \J 7/ ‘i\ ! !
I l [ T
! | I —180— Q“/ , bk SMALL WASHER
H 1 (=]
(I a5 J & ; i T «il | 6
SESat] e == Ul a5 w N\ 2
/ ' ' ' I,_u_Ji M2.5 5.9 o
2 9 M3 \ §
Metal e _P\Esticf1 o e _P|25“<3—2 e o N -
4—40 UNC 8 k=
;i 3 SHORT SCREW
@ EHH - GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @—£-F | TITLE ]
_4.0_ X +0.60 « L5 UNITS - D—SUB 25pin Hood
s 2 3 X %038 X x3 SHEET SIZE_ | A4 | SERES |
: 05 XX £0.25 XX 22
44 DRAWING TYPE [COSTOMER
Long BOLT SCALE 1:1 | SHEET [ 1 OF 1
DRAWING NO.
1 2 I 4 | 5 6 l 7 8




